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Home Science

Paper 1I
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Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
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1.

When the wheat flour is kneaded :

(A) Gluten strands lengthen

(B) Gluten strands shorten

(C) Gluten strands break

(D) No change in gluten strand

An antioxidant is effective if it :

(A) releases free radicals

(B) absorbs free radicals

(C) combines with free radicals

(D) exerts a powerful retarding

effect on autooxidation.

1.

gl Mg Wi Hesel Sd deal

(A) TSI qq Ao

~

(B) ST dq dihe B

(C) T g dedd

(D) A qq T e B AR

qeteo fadiel wesh SR qeid fohan

AT GUUMHRRh Bls IThdl ¢

(A) T® o Yg A
(B) Hh Woiehle TNOUN AT

(C) b Holohl SRR Thal A

(D) WYEHHIMER SIER Afdsiel STy

gRome Seard

[P.T.O.



Cellulose is not digested in the

human gut because :

(A) the acid in the stomach is

ineffective
(B) bile does not act upon it

(C) the human gut lacks enzymes

to breakdown cellulose
(D) Human beings are ruminants

The red pigment in tomatoes and

watermelon is :
(A) Lycopene

(B) Cryptoxanthin
(C) Myoglobin
(D) Lutein

Food with hypocholesterolemic

effect :

(A) Garlic
(B) Rava
(C) Banana

(D) Mango
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Condensed milk owes its colour due | 6.  STEfereical GHT=N T G&Ad: Jeiel hUTHeS

to : Mol .
(A) enzymatic reaction (A) i wfshan
(B) Caramalization (B) HIACTILIL
. . (C) Hae TsfR™
(C) Maillards Reaction
(D) EHTEHIT

(D) Oxidation

7. YRId hIUAl S Sqearen 100 fehedl

Herl Hesda .

We can get 100 kcal from :

(A) 1 katori cabbage (raw)

(A) W 9l el ()

(B) 1 orange (medium size) )
(B) Tsh A (W&AH 3ATRR)

C) 5t
C) sugar ©) 5t

Disease caused by fat deficiency is: | g figraey IS R SR TR0

(A) Phrynoderma (A) wEArEd

(B) Petechial haemorrhages (B) Ufhad gHeS
(C) Keratomalacia (C) =iawAfrn
(D) Gingivitis (D) feifstemre

3 [P.T.O.



10.

11.

Asians are considered obese if the

BMI is :

(A) > 23

B) > 25

(C) > 24

D) > 27

The richest source of Vitamin C is:
(A) Cabbage

(B) Amla

(C) Strawberry

(D) Spinach

during

Anemia 1s common

pregnancy due to :

(A) increased blood loss
(B) haematuria

(C) increased blood volume

(D) poor iron absorption

9.

10.

11.
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12. “Operation flood” is related to the

13.

14.

increased production of :

(A) Oils

(B) Milk

(C) Fruit juice

(D) Beer

Normal Blood Pressure is :

(A) 110/80

(B) 120/80

(C) 90/80

(D) 110/90

Invert sugar consists of :

(A) Glucose and fructose

(B) Sucrose and fructose

(C) Dextrin and fructose

(D) Maltose and fructose

12.

13.
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15.

16.

17.

Tall woman should avoid dresses

with :

(A) Horizontal lines

(B) Contrasting top and bottom
(C) Tiny Prints

(D) Vertical stripes

Wool can be identified under

microscope by :
(A) Convolutions
(B) Scales

(C) Striations
(D) Specks

Cord is made by twisting ....................

yarns together.
(A) Ply

(B) Novelty
(C) Textured

(D) Spun

15.

16.

17.
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18.

19.

20.

“Courses and Wales” are terms used

to describe :

(A) Non-wovens
(B) Felts

(C) Woven fabrics
(D) Knitted fabrics

A True Bias is cut at an angle

of :

(A) 120° to selvedge
(B) 75° to weft

(C) 45° to warp

(D) 180° to warp
Orlon is a type of :
(A) Elastomer

(B) Polyester

(C) Acrylic

(D) Olefin

18.

19.

20.
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21.

22.

23.

Which of the following is least

affected by mildew and moth ?
(A) Vegetable fibre

(B) Animal fibre

(C) Regenerated cellulose fibre
(D) Synthetic fibre

A weave characterized by diagonal

lines on its surface is :
(A) Twill

(B) Satin

(C) Plain

(D) Basket

World Consumer Day is celebrated

on :

(A) 15th March
(B) 15th April
(C) 8th March

(D) 5th June

21.

22.

23.
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24. Non-conventional energy source for

25.

cooking is :

(A) Electricity

(B) Biomass

(C) Charcoal

(D) Wood

The placement of a house to get

maximum advantage of natural

elements is referred to as :

(A) Orientation

(B) Location

(C) Grouping

(D) Circulation
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26.

27.

“The Greek Oblong,” the standard

of good proportion, uses the ratio

of :

(A 1:4
B) 2:5
(C) 3:6
D) 2:3

The evaluation that is related to
different aspects of management and
determines the degree of excellence

of job is :

(A) General evaluation

(B) Specific evaluation

(C) Self evaluation

(D) Intermittent evaluation

26.

27.
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28. Safety of principal and high rates | 28. Hagaral HIfarddr amfur gegaraita
of interest on principal are : FEMEN 359 R ©
(A) Correlated (A) FeHafyd s
(B) Inversely related (B) F& TUIRR 3Tl STHATd
(C) Unrelated (C) Helftrd THeled ST
(D) Equivalent (D) §HE AHAd
29. An illusion of space can be obtained | 29. TEHRI H@ear=l UE AT HIORT
with the use of : e ®|oNl
(A) Cool hues and high value (A) TRraet TEm o S=u THed STeete]
colours Ll
(B) Warm hues and low value (B) S9RR I ol kH LA
colours 3 T
(C) Cool hues and low value (C) fermer T emfor wH T
colours 3 T
(D) Warm hues and high value (D) SRR TMM 0T I T
colours 3 T
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30. A dressing table should be so

31.

placed that natural light falls on

the :

(A) Mirror

(B) Face of the person using it

(C) Side of the person using it

(D) Top of mirror

What is the correct sequence of

memory storage ?

(A) Short term memory, long term

memory, Sensory memory

(B) Sensory memory, short term

memory, long term memory

(C) Short term memory, sensory

memory, long term memory

(D) Long term memory, short term

memory, Sensory memory

30.

31.
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32. Lack of bowel control in children is | 32. <1 Hal foasHishaeR A&l TEdl T
known as : | e e
(A) Enuresis (A) e A H0
(B) Analism B) T
(C) Encopresis
b (©) STt
(D) Anorexia Nervosa
(D) HT-3A9E AL
33. Three year old Rohan was playing .
33. T oet=n g STel fSiHer (SFd) Sesd
on a Jungle gym at a park. When
318, gl STV i qawfies samde
three other preschoolers approach
ol STet TSTHeR Tesrdelt ArTard deel Ue
and play on the gym, he gets down
Tt IqeA e Tk O il a1
and watches them play, but does not
.@m.l. ........................... W.
join them. This illustrates.
(A) Onlooker Play (A) T
(B) Unoccupied Play (B) STSRIIES <
(C) Parallel Play (C) HHIR @b
(D) Constructive Play (D) TEATHS ©d
13 [P.T.O.



34.

35.

36.

Another name for a newborn baby
is :

(A) Embryo

(B) Zygote

(C) Fetus

(D) Neonate

An Adolescent’s need to be involved
in a social group is primarily

motivated by :

(A) A desire to be accepted by

others

(B) A desire to have as many

friends as possible
(C) The need to avoid their parents
(D) The need to pursue hobbies

Two year old Mita told her mother
“I go park” to convey “I want to
go to the park.” This language is
called :

(A) Holographic speech
(B) Egocentric speech
(C) Infant directed speech

(D) Telegraphic speech

34.

35.
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(A) 4O

(B) ©IS
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(A) AU UMY WIS

(B) STId SR HaTTel 379
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36. T e fHar sTgen |id “I go park”

wUN faon §mE=E “I want to

go to the park”. I W= FhRrel
U ¢

(A) BEfhe aren
(B) &S ar=n

(C) TH< SRS =

(D) 2fernftrer A=
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37. According to Freud, the id is | 37. Wigs=n Ud sQH ®/ =
governed by : IEREIGHEIRS
(A) Reality principle (A) feffead aa
(B) Pleasure principle (B) @ISR d
(C) Ego ideal C) T e
(D) Creature comfort principle D) FrR FTHE T
38. The influence of environment on | . " o
38. sYyl :ﬁ d[cAlden[HId
child’s development is highlighted - v
AldielUlId Hecd HIHId 3:"%'
by :
(A) 3IUSIqArg 399
(A) Nativist theory
(B) SERfaA™ Y9
(B) Ethological theory
(C) TARE™ 3qa
(C) Behaviourist theory
(D) Ted HEhHIO 399
(D) Theory of Imprinting
- - 39. *'J%H |r\-|¢|\|\7|v-| _5& ..........................
39. Programme planningis ....................
iR 3R
process.
(A) Slow (A) %
(B) Continuous (B) ¥
(C) Short-term (C) #rean et HR
(D) Flexible (D) oelf=reh
15 [P.T.O.



40. In rural area information regarding

41.

healthy food habits can be imparted

effectively by using :

(A) Pamphlets

(B) Film

(C) Drama

(D) Demonstration

Supervision of extension activities

should not be .....covvueeeeeeeeaaannn... )

(A) Well-planned

(B) Periodically updated

(C) Participatory

(D) Report-oriented
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41.

(A) 9T

(B) Te3ue

(C) ek

(D) YeSIA™ WIATRTh

fIeRadt HEHAET SEE

.

(A) gFHafsa

(aV
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(C) warh

(D) Tafad T8ad =&y
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A2 e is th t
ls e mOS 42. ........................... %, .Ha.h. gw’ a_rﬁ?ﬁa
effective classroom communication
method. T
(A) Lecture (A) =R
(B) Leture Demonstration
(B) A 9rcA&Teh
(C) Project
(D) Discussion (C) 9hed
43. Advantages of visual media
(D) ==t
ATE eeeeeeeeeeeeeeeeeeaeeenns .
(A) quick communication and save 43. R H S <.
time )
(A) Sioig |99U 307 daell a=d
(B) Personal preference and quick
communication (B) ARG e M0 g FYo
(C) Cost effective and saves time .
(C) Iy fohrud onfor =i o=
(D) Stimulating and technical
il (D) SEUeh oTfor qisreh hIvTed
17 [P.T.O.



44.

45.

46.

In India radio can be more effective
media of mass communication than

newspaper because ...........ccoceeeueen. .
(A) Radio is a modern medium
(B) People are poor

(C) Large population is illiterate
(D) People are lazy

People’s participation increases in
an extension programme due to

efforts of .....c.cccoeviieiiinncene .
(A) Political leaders

(B) Government officers
(C) Teachers

(D) Local leaders
Communication is the art
OF e .

(A) Speaking and gestures

(B) Appearance and impact

(C) Persuation and motivation

(D) Interaction

44.

45.

46.
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JAATITATA&TT G HIEIH 318

(A) T T aMygfier wreAw o1

(B) oih e 3TRd
(C) @Y o fReR eTRa

(D) < 3Tessll 3TRd

faear wTIHATT AARTIT ST
.......................... S
(A) TSERIE Td

(B) WG sifeei

(C) forer

(D) Tefeh Hd

T — H e

(C) Saciter TEOIT= grarel 3o gTon

(D) aAafsman
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47.

48.

The type of research that is mainly
concerned with generalizations and
with the formulation of a theory is

called ...cooovvvveveeeeeeeeeenn, )

(A) Applied research

(B) Action research

(C) Ex post facto research

(D) Fundamental research

The statistical test used for
judging the significance of difference
between the means of two small

samples iS ....cccceeeeeecnvneeennn. .

(A) Chi-square test

(B) F-test

(C) Z-test

(D) t-test
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47. GAHHERO MR e g TemR

fgTd Aredl JS1-3T FRNEA qgHdral

qeIeden! 1A TRUA
(A) SUFIS ERMed

(B) Sl GINEA

(C) T U Hel HINEA

(D) qaqd Sened

48. T TEM THAIA HEATRTT T&TN Tlch

TN FHISUAHC! Jeidd HfeHehl <=l

O STd.

(A) FE-TFIR T2

(B) TH-I&

(C) F8—&

(D) @&
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49.

50.

The form of sampling in which

each individual or element in

universe has an equal chance of

being chosen is :

(A) Random

(B) Quota

(C) Purposive

(D) Convenience

The one variable about which the

experimenter makes a prediction.

(A) Independent

(B) Dependent

(C) Continuous

(D) Discontinuous.

49.

50.
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TN YR <A g oAt fohal

fasardial sesen faeva=l gaq gt

Hesd < ggdien 3™ UK.

A) T&q

(B) =il

(C) Tdsita

(D) wfeesTd

T Iclish SOl U@l 93nges e

Sy d WS

(A) gYrEt =l

(B) 9vrEitd =eish

(C) 3TEE TATh

(D) e =clh.
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ROUGH WORK
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ROUGH WORK
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